1. Find the synonym of :
:]} Different 4 T"
d) Degree .

. In each question below, a
sentence Is broken Iinto five or
six parts. Join these parts to
make a meaningful sentence.
The correct order of parts is the
answer.

1.0 =

2. Immediately g Yz
3. Salary

4. My =

5. Want —

a) 43152
b) 15432 —
c) 25143
d) 42351 Y\

3. When he

P: did not know

Q: he was nervous and &

R: Heard the hue and cry at L2CPr
midnight

S: what to do " A

L
a) RQPS
b) QSPR “
c) SQPR
d) PQRS

the questions below the
entences have heen given in
tive/Passive voice, From the

.—"'I' — e

4 lreme ber my sister laking me
tothe museum.
) | remember | was taken to the

museum by my sister,

b) | remember being taken to the

museum by my sister |
¢) | remember myself being taken
_ tothe museum by my sister

d) | remember taken to the

museum by my sister.

. A child could not have done this
mischief,
a) This mischief could not be
done by a child.
b) This mischief could not been

done by a child.

¢) This mischief could not have
been done by a child.

d) This mischief a child could not
have been done.

()

Some proverbs/idioms are given
below together with their meanings.
Choose the correct meaning of
proverb/idiom

6. To end in smoke
a) To make completely
understand '
b) To ruin oneself ——
c) To excite great applause
d) To overcome SOmeone

R

To pick holes

a) To find some reason to
quarrel

b) To destroy Something

¢) To criticise someone

d) To cut some part of an item



In the questions below the
santences have been given in
Direct/Indirect s sech. From the

given aitﬂmaﬂve's._chunse the one

which best expresses the given
sentence in Indirect/Direct speach.

8 Hesald!o his father, “Please
increase my: pmketmonev.“
a) He told his father, "Please
increase the puc!-:abmonay"
b) He pleaded his father 10
please increasa my pocket
mohey.
He requests.-d his father 10
increase his pu::ket—mcmev
d) He asked his father 10
increase his puckei»mnney.

-c)

g "Please don't @o away", she
said.
a) She =aid to please her and not
go awa

by She tmd'rne to go away.
ed me not 1o go

d) She pegged that | not go

away

elow gach

12, Select the word which means the
same as the group of words given
study of Human Development:
a) Philology
b) Theology
¢} Acoustics
d) Anthropology #—

13 Opewho cuts precious stones.
© @) Philatelist —

) Drver

o) Lapidaw

d) Oculist -

14, Select the most appropriate
meaning of the idiom.

A bed of roses: :
a) Toput something on fokd "
by A really good invention
c) An easy and happy esfEence
d)y To improvise

15.He has 18 rongy Naw..

d) pecause he
donation.

early to rise

ad-and
e ealthy, wealthy

16, Early
_Aman h
and wise:
a) Make
Makes™
c) shall make
d) Made

17.Listen, she'd
a) For
p) In =
£) About
d) At

s talking - you.

| were the richest persof

&

a) i 3

p) When
Unless
d) Not any

19. Select the

relationshy Pair which has the same

SRAVITY: puLl

S

g.:il Iron: Mﬁ!i:-fl =

=) IlI:I‘Imﬂ'u P_de: Directig

% £:'agrlea‘lmm': Attra ohi
ust; Desar it

20.Ea .
gnc':;s_‘, _&T"'S ?:;d v
a) For -
b:' From
c} In
d) At

egetlables i

21. Fll‘lld out that wa
which is wron
a] BEEUE e g
b) Beautician
':] EEarabiE
d) Beautifull

rd speliing of

22. Find the
a) Quinte:: ;;ec:"!' speit word,
b) Quintessence :
G} qulnteSancB
d) Qul.htamnm

2
3.He had managed to

several tim
by the pnﬂcisl' but'was finally

a) Deceive, ch
«Ghea

b) Defend; acquter

3:' Esﬂapa, arrested"

) Cheat, robbed

24.Find the
svR :
a) Chousgy onym of Reckon:

L’? Desire
c) Calculate
d) Explain

o

25.The magician created an

............. Or th % .
a) Allusion € girl floating in air.

b) llusion-
¢) Emission
d) Omission

!

‘

26.Count the ny
Squaras " th

mber of
Sigure, | O and

a) 36
b) 3‘?}:}3“9#&5, 7 Seiiirga

an
Le) ap lfiﬂng:::' 9 squares

d) 42 ll’ianmes' 7 SQuarg:

+8squa
27, Choose the & q res

closaly |
85
of th M

ternai[w which is

bles th
B giv 2 m !
given combingalj Irrar image

TARAIN10144
GIANOTATARA I
a) 1

by 2

c) 3

d) 4 '

(2 ALO! MM ARAT
(4) AMTO T ARAT

28, Fir_'-d oul the allermn,

which contaj
e ntains figure (X) as iis

2| Y
V0

a) 1 13 14

h}} 2 <

g) 3 d .

dj 4 T=7

alive figure

29,;0?; altmseriesz 7,108 11
i néxl? at number should :
a) 7
b} 10 —
¢) 12 = =
d) 13 |

1A
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a) 34 38
py 34 36
c) 4044
4 2630
ceof
hy at the sequen
41 LGD;{QS ‘aﬁﬂd Mp&tﬁem
et correct patterm
ﬁﬂ.\igol.i 5
ot = 3 @ k"“‘
?} @ =
L
a) 1’
b) 2
¢y 3
d) 4 .
{ort
> W sch word does NOT BE
3 uvﬂﬂ'? the Omers
al ii'tCh
punce
g.,;em'lﬂ'le"e
d) yard
th 3 hip t©
the pait * jationshiP
choose milar sqinal
5 lfpia od in orig
the oN®
ir of Wores: - 0
5 BINDING 2
criming ga:gﬂm
b) disp'@ /i nter
g
E}} ?’?;ssm PSS

@ ©

; pased on
Bt wine e
A+B meoans A= the mother of B.
A - B means Ais the sister of B.
A™EB means pisthe father of B.

gB maans A is the prother ofB.
A

) (== 8=

In the following diagram rectangle
represents men, Triangle represents
educated, Circle repreaents urban
and square represenis government
amployeas.

39.Which one of the following

reprasents the educated men but
not urban 7

40.Which one of the following
reprasents a woman who is urban
as well as government employee 7

a) 7
b) 13

c) 10
a6~

Directions for the following three
items { Q.41 to Q.42):

Read the given information and
answer the guestions that follow.

Seema, Cheenu, Lalita, Teena, and
Somi help themselves to take some
sweets. Four of them take a rasgulia.
Cheenu and Teena do not take a burfy
but all the others do take the bury.
Cheenu takes only one sweet, which is
4 kalakand, Kalakand is not taken by
others apart from Cheenu. Everyone
takes peda except Cheeny, Somi, and
Seema.

A41.Who only had a peda and a
rasgulla? :
a) Cheenu
b) Somi
€) Seema
d) Teena

42, H!?:EH many sweels were taken by
a
a) 12
) 11
)8
d) 10

In each of the following questions
find out the aiternative which will
replace the gquestion mark.

43.Safe : Secure - Protect 7

a) Lock

i) Sure

¢} Guard ——
d) Conserve &
d) Force

44 in'a cenain code language. i
+ ELEPHANT" is wiitten ss "
GJGNJYPR",2COMPUTER" |5
* witten as "EMONWRGP", then in
the same code language,
TKNOWLEDGE" will be written as:

4

, ;"a} MLQUNCFEG [
17 by MJUQNGBIL

¢) NKUONGAIL

d) MJUQNGAIL

45, Priya is Arjun’s cousin. Shweta s
sister- in-law of Akash wha is not
married. Anjali 15 the mother of
Veer. Rohit is the brother of Akash.
Rohit is Priya's uncle. Anjali is the

grandrother of Arfjun who is the son

of Rohit. Shweta is the wife of Veer
How is Anjali related to Shweta?

a) Aunt

b) Sister

¢) Mother-in-law
d) Mother



46 Shakuntala says, "If you reuggfa my
age, then the reversed |:|um Lt
represents my husban:li.s a.g:‘lem
senior to me-and the d:ﬂ‘er? o L
between our ages s one-& e;u_' L
the sum of our ages". What is
of Shakuntala?

a) 23
b) 24
c) 45
d) 54

i e
7 if the seventh day of & manlrlz:“; gl;?
i days earler than Maonday, ;r;rhg
will it be on the 20th day o

meonth?

Thursday
g; Wednesday
c) Tuesday
d) Saturday

45°% In
jay i ing west. He turns e
G I?J-f?:;g:;iw}sa direct:orqrar;:tfzun
[hem?hnar 180% in the same dire
an

2 in the c.lcckjnise :
and;hs: ﬂrgic:'?directmn is he facing
directicn.

?
nt::'; North East
b) North Wes!
¢) South East
d) South Wast

git 5 will

. i
- of times the d e

49.The NUMBEL D ing the integer

appeal wh_:l_
1;:;2 1000 18!
a) 289
h) 271
cl 300
i chi different
hoose the word which 18
Choo
2 from the rest
ag) Lion %
p) Tiger
c) cat F
d) Deer

AL,
=

' an selis an-article for $540
& 'gn"e‘." friakes a profit of 20%. _
What would be the selling price
if he wants la make-a profit of

25%7

a) $550
b) §600
c) 5562
d) 5675

; ; a husiness
e agicllnzr s:f %v&s‘.s 58000 indaB
ot sts $12000: If they ma ef
:nu?_“ of $10000 at the end o -
!t:li:: year, how much of the pr

will B receive?
a) $4000
) $5000

) $6000
) $7000

iple of
53 The least no_mmcn muitip
R 135 and 24 15

a) 90

by 360 -
¢y 240—
dy 1080

ianal
he simplest form of the ratian
54:ufnber D186 IS

" a) 1/6
b) 316
¢) 13166
d) 2/5
o form of a cone
56, A solid is ;"ntzehemisphefe* The
mnunted 4 height of the cone

radius an oo
d 4 m. Fing .
arr-.;fgcr: ::’:aa of the given solid
su
a) 114.4 me ’
b) 103.62 M
c) 70 m? »
d)72.5 M

57.1n a certain slore

o

56, 'lha:cb.'sit_ Price of 2g arlicles g
the same a5 the 2elling price
of x arlicles, If tha Profitis 25a¢,
then the valie of « is?

aj1s

b)1g

c)i8

d) 25

«Mhe profit g
J20% of the Cost. If the cogg

increases by 259, but the.
salling price remai
approximately what percentage
of the selling prica is fhe profity
a) 30%

b) 70%

€) 100%

d) 250%

8.A fruit seller had sormie apples,
e sells 409, apples and sl
I:ua; 420 apples. Originally, he
ad:

a) 588 apples
b) 600 applas
c) 672 apples
d) 700 apples

38, What Percentage of numbers

60

from 1 10 70 have 1or8in the
unit's digit?

a1

b) 14

c) 20

d) 21

.Seats for Mathematics, Physics
and Biology in a school are in
theratio5:7: 8. Thereis a
proposal to increase these
seals by 40%, 50% and 759
respectively, What will be the
ratio of increased seats?

aj2:3:4
b)6:7:8
c)6:8:9

d) None of these

51.1In the firsti 10 overs of a cricket
9ame, the run rafe was only 3.2
U should be the ryn ¢ '
the eMaining 40 overs 1o feach
the targel of 282 runs?
a) 6,25
b} 6.5

Nerhatss Expanditires, [ Perceiianal Intlimi iy Puckiyey a Book

Freimetice
0y s

B2.1If for a certain quantity of bocks.
the publisher has 1o pay Rs.
30,6800 as printing cost, then
what will be amaunt of royalty to
be paid for these books?

a) Rs. 19,450
d) Rs. 21200
c) Rs, 22 p5q
d) Rs. 26,150

63 What is the central angle of the
sector corresponding to the
expenditure incurred on

Royalty?

sz, My

054 Porect

cy 54° £

d) 48° ko7 C
T

A2
r.f'?i.'u //lli.a \”/‘.4 f}-‘/ #



‘B8 Suchitra can tilka big garden in

84 If 5500 copies are publishad _
and the transportation cost on 10'days. ‘é"-"?"f;;"-"“ s 71 The a :
them amounts to Rs. 82500, same garden in 15 days: If the e AVerage number of u.
: 1l owner of the garden is ready 1o 19 3 Muselim o of visfors .|
then what should be the 5: ing pay maximum of Rs 500 for 98, whereas it l:&;v Marnday js 75 1n a tidae o .
s f: e bm:;ualhiéélz' tilling his garden. Both Suchitra g_?y‘_’ of the man(, w;:n other Are twica |hﬂt1 g?‘h‘”*@fﬂ'gms
et e il and Konkana decide to til the e e number gp el be fanked hiry fif s oK.
25% garden together. How much will days : ::lrre manth if it hﬁana.[g €1 are 10 gj "s_a:':&lcllw top, if
a) Rs. 187.50 Suchitra earn more than - begins on Mondays i _iy, oW many bars a?.'___ _
b) Rs. 191.50 Konkana, when tilling is a) 144 ¥ 2) 2[“' tank? € afler
c) Rs. 175 finished? g}; :265 e
d) Rs. 180 a) Rs 300 i1 91
b) Rs 100
2.0
= A grocer has a sale of Rs. 6435, c) Rs 250 yush had th
5 Rs‘.rgQET". Rs. 6855, Rs; 7230 d) Rs 150 Book A had 14';;::::3 in which o
and Rs. 6562 for 5 consecutive ?\a:n;u% more pﬂgg-g?haka be 91::1“&' Smet n Persan can
months. How much sale mus! 69, In the given series which lelters Sl g:mk € had 10% joge "0 indias. 121 2 a Presidant of
he have in the sixth month O J ars next? S i an Book A, If ghe ¢
that he gets an average s2i° o YtizB. TKWB, RNTD. POQD, Pagesn Ag or%.and 15% of E; e time only
Rs. 85007 TNE - R respectiv 5 and C © limes unly —
b ?:—@U what pen'f;hr'&!han Spproximately ¢} Three times (-
a) Rs. 4991 i of pages did she d) No bar
b) Rs. ggg: a)MUMG e : e
c) Rs. by LUKG , ] 77 .
d) Rs. 6991 51 LWKFE { 3;10% Elzc?nrg::g ::O. the preambie of
) OWKG 7 ® Indian constityfjor
66;Ina race of 937 E"eémaf{ih;?d i y d) 15% ﬁg::g':tgfﬂﬂ'ﬂm g t'::
phan by 310 mete . .
beats S fsgg metres, Sohan 0.A recipe requires 227 grams of : 73.In abag, there 8) Pariarmam ———
inaraceo by 24 metres. T keb and 397 grams af flour. . which are dl-Vfdaa:;E' 12 perig b} pfeﬁide'nte,.f“
bealr:s zs'c:-taanny n!f.elfes will Rohan %-Vhﬂe making the recipe 227 - and 5 black pens. 'Innt?‘ g “?I'een ;J Constituent Assembly
= tOMDhan in 500 meters grams of ghee is added. now if ;ﬂ]ays <an we remove g pemany ) People
befa? the chef accidentally pours in [:(t::: least 1 green L 323 ﬁo
FRGE man fee
595 grams of flotk h‘;’:‘ou’ e Pen remain in the bag? 78.The word thal dc
a) 160 metres more grams of ghee a) 445 0 the Ingin L9088 10t appear
b) 150 metres added? b) 455 8) Soyera ) Constitution s
180 metres c) 5686 h overaign
c) 240 gm e ) Federa
d). 140 metrss 2 m ) 636 c) Fratenity
b)113 9 I 74.The price of wheat i d) Republic
jhani Express travels from c) At ot \ 40 paise eyery vpr CCaSES by
g Ra}dh{?%i to Jalpaiguri and d) 240 gm \ price of fice i;‘;g’aa’- while the
e ; eas
NEW s on the way. 4 Paise eve eELy 15 79. Which of {1, =
makes 6 stop : : ; 1Y Year. If in 2013 ik of the fallowing is
ns enter the train during Price of wheat was Rs_4 20 S Categorized as mille g
Erstv?aain's journey with 4 that of rice was Rs, § 30, Dand a) Rice :
:dhi;erem tickets: How many (e which year wheat m],méﬂ , b‘; gia‘tze- -
: of tickets May Paise more than the rig €) Sorghupm:
aiferent sets f a) 2020 6 iica? d) Wheat
have had’ b) 2021
a) 6000 c) 2022
b) 5840 d) 2023
c) 5676
d) 5985
= 9 o



80. Which of the following authority

can provide for eitizenship in

case of acquisition of terrilory?

a) Central Govémment

b) Parliament of India

¢) Supreme Court of Indla

d) All the citizens of acquired
lerritory would automatically
become cilizens of India.

81, Lactometers, which are used 1o
determine the purity of a sample
of milk & hy Fﬁ?t%rgused for

determining density of liquids,

are based on which one of the

following principles?
a) Archimedes' Principle
b) Bernoulli's Principle——"
¢) Boyles's Law
d) Ohms law —

82 In the context of Indian
econamy, first loan default
guarantee (FLDG) model
recently seer in (he News Is
associated with:

a) digital lending

h) external commercial
borrowings

g) markel horrowings by stale

gnvernments
d) priority sector lending

83.In the context of economics,
Kuznets curve shows the
rela"trn;flship between which of
the (wa rufiowfng_uarlahles‘?
a) Income inequality and per
capita Income (or economic
development) i
b) Tax collected and gconamm
growth (per capita income)
) Inflation and une[r_aglgyrnent
d) Interest rate and private

) Inuﬂﬁ!ment

(6

“
7 p
‘i,_\}__.-"{? !

84 With raference to the G-20
‘Troika', consider the fellowing
statemenis. '

1. It is & sub-group within the G-20
comprising the thres largest
economies among the G-20
countries.

2. India Is currently part of the G-20
Traoika counlries,

Which of the statements given

above istare nol correct?

a) 1only

by 2 anly

G Both 1 and 2
d) Meither 1 nor 2

85, With reference to Buddhism,
which of the following
statemients s not correcl?

a) There are lhree principal
elements In Buddhism
Buddha, dhamma, and sanghé

b) Buddhism rejects the
authenticity of the Vedas.

¢) Tipitakas have peen written in
prakrit language.

d) Invarious Buddhis! 1exts,
Buddha is ais0 known as
Tathagata and Sakyamunl.

86. Which of the following
statemeants 18 not correct?

a) Dawn and twilight stay far
longer time In the temperate
regions than the tropies

b) Generally, on 15t September,
the Sunis vertically gverhead
al the tropic af Capricorm.

¢) While the |atitudes are equally

~ spaced, distance between
longitudes vary:

—caasonal extrermes in Wo

heres are impacted by

aith's axial precession

h

o

a) Ty :
bJ Pe:ﬁ‘:?hﬁdr da

€) Manjira

88, Consider ;
ala[ﬂm&nlli‘e fDHawln.gs_

1. Itis located, betwesn

ErakQFam a Fix

gf HITalayﬂ-;‘d Ladakn ranges
YOk rive :

vallay,  "oooes throigh this

3 This valley hoy

humped came

camels;

585 double
5 CallEd Eanlnan

Which of i
il the following valleys bast

the aboye fe
a) Guh'narg valley atures?

b) Poonch valle
¢} Hanle valley s
d) Nubra valley, ./

80 Whi
ol 1:1: o he following

i | 1
o Vg oo 0 st
VP

P08 fully fund -
g0 :’i?mngm af !ﬂ:i: h?_lhe_
. ! help in iy ars ihe
Vilhg&mhnn "E'lm-bﬂrﬁ'ar

9} It alse aims i;
S BIMS o deyvelan:

4 &g,
it::[f:lcwl'tagg hat 103:53 il
iy Iricity neads sojaly

fenewahle BIiErgy d

R

‘liﬂcl: I::‘rerenm 10 missile
el C0Y. how are bl

= Hes differant iy :

s m Griilge

) Crulsa missil

Propeiled {hy

flights, while

85 arm jen
Bughaut thais

ballislic i
: mis
'8 rockel powareg onwﬂ%

the initial i
Phase of i
Eu Be missilgs ha:l;n ;r::nlw
4 iget accuracy COmpar EI:II!
o c‘e:lhﬂ.hc Missiles i
Mise missiles gy
: e
have 3 hlghecpaylﬂ"a::“y

capacity th :
missiiat:t an that of ballistic

d) Ballistic missiles ara difficult

to detect ¢
ect com :
missiles. Pared o eruise

82 :::pbuwancy IS the
onsiveness of tay
growth lo the changes,in“‘;ga

a) Gross dome
country mestic product of a

b) Taxrates i
N-& coumnt
?1} Taxbase ina cnunlrnv,r
) Rate of inflation na cﬁumry






